Potencias de 10 (F)

27100

98 =100

51100

33 =100

87100

73100

43100

12100

7100

69 =100

Calcule los siguientes cocientes.

53100

48 =100

95100

54100

13100

50100

31100

46 =100

90100

7-+100
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Potencias de 10 (F) Respuestas

27+ 100
0,27
98 = 100
0,98
51100
0,51
332100
0,33
87 =100
0,87
73+ 100
0,73
43 =100
0,43
12+100
0,12
7100
0,07
69 = 100
0,69

Calcule los siguientes cocientes.

53100
0,53
48 =100
0,48
95+ 100
0,95
54100
0,54
13+ 100
0,13
50 =100
0,5
31100
0,31
46 =100
0,46
90 = 100
0,9
7100
0,07
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